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1,94 x 30% = 9,97 x 10% =
7,05 x20% = 5,71 x40% =
2,87 x60% = 4,41 x 20% =
2,68 x 50% = 8, 64 x 60% =
1, 14 x 50% = 0,78 x 10% =
2,34 x20% = 3,54 x20% =
8,06 x 50% = 9,57 x 80% =
3,02 x70% = 8,12 x70% =
4,62 x20% = 1,99 x 60% =
1,57 x 80% = 6,35 x 80% =
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1,94 x 30% = 0.582

7,05 x20% = 1.41

2,87 x60% = 1.722

2,68 x50% = 1.34

1, 14 x 50% = 0.57

2,34 x20% = 0.468

8,06 % 50% = 4.03

3,02 x70% =2.114

4,62 x 20% = 0.924

1,57 x 80% = 1.256

9,97 x 10% = 0.997

5,71 x40% = 2.284

4,41 x20% = 0.882

8,64 x60% = 5.184

0,78 x 10% = 0.078

3,54 x20% = 0.708

9,57 x 80% = 7.656

8, 12 x70% = 5.684

1,99 x60% = 1.194

6, 35 x 80% = 5.08
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